|:> restart,
|:> read "ldsformalsols.mpl";

Y Example 3,7

> Syst2 := ((x"5]0), (0]0)).diff (y(x), x$2) +
(€0]0), (O[1)).diff (y(x), x) +
((0]-x +2), (x +2[0)).y(x) =0;
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| Ty |+
00 dx
;> infolevel[ FormalSolution] == 3 :
> FormalSolution (Syst2,y(x));
ResolvingStep: resolving for [1 O]
ResolvingStep: 4 order resolving equation is constructed:
0.13e-1
ModuleApply: ResolvingSequence is constructed: 0.16e-1
ModuleApply: 2 exponential parts is found: 0.34e-1
ModuleApply: exponential part: [1 x = t]
ModuleApply: no regular solution: 0.20e-1
ModuleApply: exponential part: [exp(-6/t"2) x = (1/4)*t"3]
ModuleApply: 3 dimension regular solution space is found:
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ModuleApply: all time: .260
3 4173 3 41/3(21)273
R -8 +0(x"?) R -8 +0(x"?) w2
(& . , € . 5 .
442353 1 0(2) 4425353 (C1)1B3 4 0(:2)
3 413173
2 23 -8 +0(x'")
(& .
4425353 (2123 4 0(:2)
Y Example 12
(> Systd = ((-15%*x+4 | 60 *x"3 — 120 *x"2),
(60*x 4 +120%x73| -15%*x+4  )) .p(x) +
((60*x73| 0 ),
(0 | 60 *x73)) . diff (y(x), x);
“15x+4 60X —120x° 60x 0 d
Syst4 = A ; L y(x) + : (ay(x)) (2.1)
60x'+120x -15x+4 0 60x°

;> infolevel| FormalSolution] := 3 :

> FormalSolution (Syst4, y(x));

ResolvingStep: resolving for [1 0]

ResolvingStep: 2 order resolving equation is constructed:
0.3e-2




\ 4

0.23e-1
ModuleApply: all time: 0.60e-1
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Example 13
» big system Syst13
> map(el— map(el]ﬁ‘if(eIIZQ,O "), op(1,el)).o
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00 dx 0 0
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> mfolevel FormalSolutlon] =3:
> Res := FormalSolution (Systl3,y(x)) :
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ResolvingStep: resolving for [1]

1

302

p(2,el), Systl3);
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ResolvingStep: resolving for [1 0000 0]
ResolvingStep: 12 order resolving equation is constructed:

In(x) O(x) +1 +O(x)
In(x) O(x) +O(x)

ResolvingSequence: reduction is evaluated: 33.187
ResolvingStep: resolving for [1 0 0 0 O O]
ResolvingStep: 1 order resolving equation is constructed: O.
ResolvingSequence: reduction is evaluated: 0.3e-2
ResolvingStep: resolving for [1 0 0 0 0]
ResolvingStep: 4 order resolving equation is constructed:

ResolvingSequence: reduction is evaluated: 0.10e-1

S O O o o O

ModuleApply: ResolvingSequence is constructed: 0.6e-2
ModuleApply: 1 exponential parts is found: 0.17e-1
ModuleApply: exponential part: [exp(-(1/4)/t+(1/30)/t"2) X
t

ModuleApply: 2 dimension regular solution space is found:
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3.1)



ResolvingStep: 1 order resolving equation is constructed: O.
ModuleApply: ResolvingSequence is constructed: 421.863
ModuleApply: 2 exponential parts is found: .110
ModuleApply: exponential part: [1 x = t]

ModuleApply: 8 dimension regular solution space is found:
4.200

ModuleApply: exponential part: [exp(-(621/1216)/t"2-
(2601/92416)/t) x = t]

ModuleApply: 2 dimension regular solution space is found:
530

ModuleApply: 1 exponential parts is found: 0.4e-2
ModuleApply: 1 exponential parts is found: 0.20e-1
ModuleApply: 1 exponential parts is found: O.

| ModuleApply: all time: 427.514

B nops(Res);
i 10 (3.2)
> Res[2];
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